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1A EANER Qs 0.892 0.512 0.380 1 0.744
B2 FEAMEE(BHER  REREAEER)  TKGE FRGHEREEE s BRE TIR)MR-  20154EhK P261
B RAERS o RRAERS o
1 1 0.5 FRL Sy S D TGS
1 1~2 MR S22 VGG Tk K E HINE 35855
1 1~2 WdHN N 0~10
R 1 1 2~3 |t L NfE 10~30
1 3~4 fio7- N 30~
Wk | DAk Ko,
5. 124X 7-0 s T R5RE Ty /%]
IARYS-VHIFLE L (m/ ) L R+ WEt 2400 | BUE L 2.407 4.81 m/A&
IARLGT-DEARS 1 (m//K) FhE 1 WEL 0693 | BE L 2.407 3.100 m/A
/
(E#VE1.707 m)
BB YE i BE R T, (G0 A T, 14.00 5y /A&
IARMOHEIFLIER Ty (53 A) Rkt 4X 0.00 | WE L 5Xx2.40 |EYE L+ 8.00%2.41
T,
12 19.256 31.256 m/ A&
IARYDEARR Ty [0/ K] T Qs X 1.00 / 0.016 = 0.892 X 1.00 / 0.016| 55.74 4y /A&
W05 HEIER T, 4y AK] T, |(EL—2/]) X20 = (4.81 —3.10)X 2.0 341 /R
& & (ED 104.41 %y /A&
6. 1 0 47-0iE TA%K &/ 8]
—HY0lE A% A H] N= 60X63X%X2 /3T = 378.0 X 2/ 104.41 = 7.24
7.0 T B % [(B]
e T H # = 8 7.24 = 1.10 H



W EATEHEREHMNEE Com—r—TmEm
1.5 T FT 10655 106No.4 BEELHIT A E

2. % A X =N [K]

YN= 8 A
3.3 A £
MBR o= | FEd R AR
+ = N & 0
(%) (%) (%)
0~50 FR AL 10 90 36.0
b g 50LL L fholz 35 90 315
0~30 FEN AL 15 90 10.5
WYE A S0LL L oYt 35 90 315
0~4 SN 70 10 28.0
A 4~8 oYt 60 10 24.0
4. MEAE
® @) ® @D=0x@ G Ox@xGEG  MEHIEAR
+ ' FEH MBREE | AR | EARS | LR B O N B OGRS L RS | BERSH . RERSA LLER
N i (%) (nf) (m) (m3) (%) (kI) (kD) (kI)
[ 39 40 6.270 2.423 15.19 90 5.468 | 3.645 1.823 1 : 05
wH|+ 12 45 6.270 0.677 4.24 90 1.717 | 0.491 1.226 1 @ 25
M+
i 3.100 19.43 7.185 | 4.136 3.049 (%)
1Y EA &G m 4.136 3.049 WL
IRYDEAREF Qs 0.898 | 0.517 0.381 1 0.737

SE EAME(BREH SRR EER)  FAGE ARG IR 20 A R (BRI TR 201540 P261

+E RAERS o RRAERS oM
L 1 0.5 HBRLSY DD T2 N B
1 1~2  [MBRI 2 WA U IEKE HINET D55
1 1~2 WdHN N 0~10
WE + 1 2~3 iz NfE 10~30
1 3~4 fEo7- NfE 30~
Hibe A+ 1 (1’ B (LA - MR SR IC K0T,
5. 1A% 70 TR T[4 /%]
IARYST-DHIFLE L (m/ ) L R+ WEt 2390 | BYE L 2.423 4.81 m/A&
IARLGT-DEARS 1 (m/K) P WEL 0677 | BE L 2.423 3.100 m/A&
/
(EHVEL713 m)
B AR E i BE R T, (9 A T, 14.00 5y /A&
IARYGDEIFLRER T, (03 A) Rkt 4% 0.00 | WE L 5Xx2.39 |EYE - 8.00%2.42
T,
’ 11.95 19.384 31.334 m/ A&
IARYDEARR Ty [0/ K] T Qs X 1.00 / 0.016 = 0.898 X 1.00 / 0.016| 56.13 43 /A&
5 HEER T, by A] T, |(EL— X)) X20 = (4.81 —3.10)X 2.0 343 /R
& & (ZD 104.89 %y /A&
6. 1 0 47-0iE TA%K [(&08]
—HY0lE A% A H] N= 60X63X%X2 /3T = 378.0 X 2  104.89 = 7.21
7.0 T B % [(B]
i T H % = 8 7.21 = 1.11 H



MR-y Karin T



NO.

[ #2500 sH&LT-Yvh" K3zHhr) 1.3 SIH&FR 111No. 1314 ¢ 2500 24 T1
pi=| B - . " .
it = i &
B 8 @ B n * Rbe =
+ T
SRR T  EEEfAs 10cm
BHEVIBMIT t <10cm t= 10cmATF
L= 1.051x8 8.4 m 8.4
SHAE R RS As t= 10 cm
BEE A=5.34 5.34 m? 5.3
TAI7 MR As v= 5234 X 0.1 0.53 m?® 0.5
hyh-5ikE 0.023x0.10%8. 4=0. 019 0.019 m® 002
0.019x1.4=0.027 0.027 t 0.03
B B T EEIXE V= n4 x 2.50072 x 6.743 33.10 m?
(-9 ;M)
g5+ v= 33.10 33.10 m*® 33. 1
A+ MIBT v= 33.10 33.10 m*® 33. 1
# B T
+ =2 reEEm v, = 1/4%x2.50"2x 1.750 8.59 m?®
RC-40
CotBERER v, = m/4%x2.5072x ( 4.243 — 2.000 ) 11.01 m?®
18-8-40
BARIEBRIER @azavru—n
V3= gm1.4 x 1.80"2 x 0.535 1.36 m?
(ERRER) F3PRP $300mm  ZE4RT
vh = /4 x 0.310°2 x (2.50-1.40) /2 0.04 m?®
(SR HR+IERRER) I35 15&
V6 = .4 x 1.800°2 x 1.450 3.60 m?®
(IR{AER) 3B 158
vi=n./4 x 1.750°2 x (3.543-1.450) 503 m?®
ColERE V= V2-(V3+V4+V6+V7) 0.89 m?® 0.9
BREREREE (RKER) #HI3B 158
RC-40 v8 = /4 x 1.750"2 x (2.000-0.793) 2.90 m?®
(FB2ER) #3732 $ 900 x 1500
V9= /4 x ( (1.75"2 +1.1572) /2) x (0.45) 0.77 m?®
(E&T)
vi0= .74 x 1.15°2 x (0.793-0.450) 0.36 m?
FRIERE
RC-40 = V= V1-(V8+V9+V10) 456 m*® 4.6




NO.

(=2 FAKarm)] 2.3 ST R No. 1 MP3rif ¢ 2500 A4 T1
IH = - . . =
& TR &t g = B =
prERmzEr (E8I) vy= 7.4 x 1.15°2 x0.300 =i 0.31 m?®
RM-30
Vig = m/4%2.50" 2% 0.300 =i 1.47 m?®
reEEE V= VI2-V11 =i 1.16 m?® 1.2
RM-30
I E BREET | A=D5.34 -1 4%0.972 4.70  m? 4.7
t=50mm A= 5.34 -1.74%x0.972 4.70  m? 4.7
My — KBTI RUET
MHERET e /-y
L= 3.000 m n=10 & = 1.0 | & 1
KBE—D VY
L= 2.000 m n=10 &K =i 2.00 m
-y
L,= 1.900 m n=10 &K =i 1.90 m
=x&T—07
L,;= 1.900 m n=10 &K =i 1.90 m
= i = 580 m 5.8
REr—o o rEH $2.500 m L= 3.000 m =] 1
EAEBIBAT t+gap HMEL Nss H= 1.700 m ={1.700 m 1.70
ImiliZ #$hHtT s<N=30 H= m = m
WELX N=3o0 H= m = m
WELE 30<N=50 H= m = m
WELE s50<N H= m = m
B+ N=30 H= 0.590 m =:0.59 m 0.59
MEL s30<N=50 H= m = m
MEL s0<N H= m = m
HAERY L 200m<mm=<soom H=  4.453 m =:4.453 m 4.45
+Esep HMMEL N=s H= m = m
OmLE #$hEE s<N=30 H= m = m
MEL nN=30 H= m = m
HEEY L 200m<sgm=300m H= m = m
X EATIRANERES =) 5 =:6.743 m 6.74
F=yoh BT t=19mm =909 BEUE 2.500 m BEERT 2.0 &R
L=79x%x2 =:15.80 m 15.8
Bt (EEIER RERUEEHF2020) P. 151
=5y BlET TCl6tm
L= 1.10 m =: 1.10 m 1.1
Bt (EEIER FHERUEIZELF2020) P. 146
=998 WET 4.9t @ WER 1.357m 1.0 #&7r 1
F=y99" Y1 T F=9vh" IE 2.500 m BER  1.357m
L= m X 2.500 + 1.357 x 4 =:13.28 m 13.3




NO.

[(r—2 oK) 3.3 oRTEZE No. 1 MP3rif ¢ 2500 2471
b =] - . " s
Hi = 73 =
B B M B = * i =
AY95v T LEB wER 1.357 m BfuAEE=E 1.180 t /m
BAKEEE 0149 t /m?
W= 1.357 x 1.180 t /m 1. 601 t
D= 0.570m (=0.470+0. 100)
MmO Wi,=xn.4 x 0.57072 x 0.149 t /m2x2 =i 0.076 t
= 1.601 4+ 0.076 1.677  t 1.68
EEkRIVY-bT 30-18-200 V= 6.40 m°® = 6.4 m? 6.4
BHH (MEIER HERVEERK2020) P.151
EA#EEE €S 0.6 [EAVRHIH 1 &P = 1 & 1
-BET
MR B CS 0.6 EANEHIH 3 [ = 3| M| 3
"HEET
F 84k 2500mm  n= 1 & 1 @& 1
m{tE
mEr— o4 2500mm 5,80 | m 5.8
t=19mm
REs— 04 2500mm 1 = 1
B
SHAEEKT shkgkr n= 1 &k = 1 & 1
Z2S5q LT 2500mm | n= 1 &Y = 1 &R 1
RS54 LS T V= 1.90 m? = 1.90 m? 1.9
BH (MEIER HERUVEERK2020) P.151
KEET
FARZEIHR  25000m  n= 1 T = 1 & 1
RET
FARZEIR  25000m  n= 1 T = 1 & 1
BET
FARZEIR 25000m n= 2 M@ = 2 | = 2
BARAT - ARBIRREROINNERDSS, JL—UMNEtES
NTWEUMEEBORBARKZET LT 5,
EUYREIR 1E
SREAVH-METE 1[H
ARBEIHRER 2500mm | n= 1 = 1 1




¥ B A B OE

¢ 200048 Ar—< o 7 SEHT T <106No. 3 SEHT >

& H TEAR % g = B #E
[ — 7]
Rl —y 7 ¢ 2,000 m 4.6
Aok ¢ 2,000 = 1
e Y b $ 2,000 =X
LR — o 7 TE MR
JE S B FEIA 7 T $ 2,000 ; ¥+ (N=5), H2<9. 00 m
¢ 2,000 ; Ktk (5<N=30),H2<9.00 m
¢ 2,000 ; B+ (N=30), H2<9. 00 m | 2.300
$ 2,000 ; WE 1+ (30<N=50), H2<9. 00 m
¢ 2,000 ; WE 1 (50<N), H2<9. 00 m
¢ 2,000 ; L 1 (FEA£200mmLL F,N=30),H2<9.00| m
$ 2,000 ; BE + (200mmLL T, 30<N=50),H2<9.00] m
¢ 2,000 ; FE 1 (B£200mmPL F, 50<N), H2<9.00| m
¢ 2,000 ; HLAEY £<200mm = HL A =300mm, H2<9.00f m 2. 343
02,000 ; BAIRY I<KEAESAHE/3,H2<9.00] m
A5 | m | 4.643
JE AR HIFEIA 2 T ¢ 2,000 ; Ktk T (N=5),9. 0=H2 m
¢ 2,000 ; kit (5<N=30),9.0=H2 m
$ 2,000 ; WHE T (N=30),9.0=H2 m
$ 2,000 ; WE 1+ (30<N=50),9. 0=H2 m
$ 2,000 ; WE 1 (50<N), 9. 0=H2 m
¢ 2,000 ; HEF+ (BE£E200mmPL F,N=30),9.0=H2[ m
¢ 2,000 ; B+ (BEEE200mmlL T, 30<KN=50), 9. 0=H2 m
¢ 2,000 ; HET+ (BE£E200mmPL F, 50<N), 9. 0=H2[ m
¢ 2,000 ; FAIRY £<200mm = FALE=300mm, 9. 0 =H2 m
02,000 ; BEARY HKEARESHE/3,9.05sH2]| m




B & B A
¢ 200085 &r— < o 7 KSTHL T < 106No. 3 S7HT >
fiH TEAR T =1 = By e
= JREEL ¢ 2, 000 BRHEE R : 6. 3m/f& 7T & FIT 1
F—v 7Bl BT ¢ 2,000 m
TV ITRET ¢ 2, 000 £ A 1
= YR L $ 2, 000 < B > #FE R =1.50—0. 143=1. 357m (GL-1. 50m T &)
7 X2.00+1.357X4=11.711 m 11.7
595kg/m
AI T T 0.595 X 1. 357=0. 807 t | 0.807
=27 U —1]
BEH DL 7 ) — MR ¢ 2,000 m’
=27V —1]
BEH T 7 U — MMTRE ¢ 2,000 2.00°2X 7 /4X0.150=0. 471 m’ 0.47
JEESR A t =20cm 2.00°2X 7 /4=3.142 m” [ 3.14
U A AR fii ]
B bR A S T ¢ 2,000 [ 1.0
BEMOROR - FIRRIE T ¢ 2,000 n=(T1+T2+T3+T4+7T5)/8
(1.4047.9341.2640.0940.63) /8=1. 414 [ 1.0
Bt % T ¢ 2, 000 [i]
ek — > 748k
Wexr—~ 7 ¢ 2,000 [ 1
[SryikEET]
9 KPEAK T £ Pt
(Ve A e 4L T
2T A SLPR T ¢ 2, 000 & FIT
HI=7.0
JE KL T ¢ 2,000 m3




% E

¢ 200088 Ar—< o 7 SEHT T < 106No. 3 371>

i H

IR RS

B

]
il

[+T]

JeAT A

JEASRHI

2.00°2X 7 /4X4.643=14. 586

14. 6

av)) PR L

o ck=18N/mm”

SEYIR~GL-1. 50mE T4. 393-1. 50=2. 893
2.00°2X 7 /4X2.893=9. 089

PR GREE= 2V —1)
2.00°2X 7 /4X0.390= A1.225

PEpR - (ER)
1.10°2X 7 /4X0. 130=A0.124

Pefg (BR{R) 2.893—0.390—0. 13=2. 373
1.05°2X 7 /4X2.373= A2. 055

PEbR - (L)
0.318°2X 7 /4X0.475= A0. 038

PEbR - (E#2)
0.500°2X 7 /4X0.475= A0. 093

PERR (BR3)

PebR/NEt
1. 225+0. 124+2. 055+0. 038+0. 093+0. 000=3. 535

Al
9.089—3.535=5.554

5.6

FEAL R

RC-40

2.00°2X 7 /4X1.500=4. 712

PEpR (%)
(2.0072—0.8272) X 7 /4X0.35= A0.915

e (BKIR) ¢ 1.500—0. 873=0. 627
1.05°2X 7 /4X0.627= A0. 543

PERR (RIEE) -
(1.0572+0.8272) X 7 /4/2X0.60= A0. 418

PEBR (B3 + IR
0.88°2X 7 /4X0.273= A0. 166

PEBR/INEE
0.915+0. 543+0. 418+0. 166=2. 042

A
4.712—2.042=2. 670

2.7

[AFLRxE ]

SRE A+ h=0. 273 , GL-0.273
BB h=0.6 , GL-0.873

ER{A+EBE h=3 , GL-3.873
JEEA%:h=0. 13 , GL-4.003

k12 J— k:h=0.39 , GL-4.393

7 A

14. 6




<

¢ 200088 7 — 2> 7 ASTHIT. <106No. 3 SZHL
2R R g =® B #E
REIHE T
(GES |
J\ATEEIW L=(D+0. 2) tan(22.5° ) X8
AEE I T As, t=10cm 0.911 X8=7.288 m 7.3
J\FTGIERT A=(2XJ 2+2) XL2 :
RS As, t=10cm (2X{ 242) X0.911°2=4. 007 m? 4.0
LGy As 4.007X0.10=0. 401 m® 0.4
hyd-{5 e 0.023X0.10X7.3=0.017 m® 0. 02
0.017X1.4=0.024 t 0. 02
[EZERRIE 1R 1]
t=150 SEHTA f
TlErgET RC-40 2.00 " 2X x /4=3.142 m? 3.1
t=150 SRS ,
AT RM-30 4,007 m 4.0
SELERRAEZEER - 0. 10—0. 03=0. 07
B R RM-30 4. 007 X 0. 07=0. 280
STHLES : 0. 15—0.07=0. 08
3. 142X 0. 08=0. 251
ZE(r%L:1.2,C:0.9 '
(0. 280+0. 251) X 1. 20/0. 90=0. 708 m’ | 0.708
AET B AR AS m’
t=50
#zET BRI EEAs | 4.007 m? 4.0




#wE R E

¢ 200088 Ar—< o 7 SEHT T <106No. 3 SEHT >

R - MR - RS

g = Hii| #=E
[ 1) P T Ak
M TR E T ¢ 2000 ¢ 2,000 & T 1
M T T ¢ 2000 ¢ 2, 000 AT 1
M8 LAk BAPH L. ¢ 2000 $ 2,000 [] 7
MBS T E & ¢ 2000 kg | 1,160

7 ThARA T
PEARER - Bk 1[m]

HEHE T HE(  1(m]
HEE T HHIAE T 4R (CEESR)

HEE THLE 1Al




¥ B A B OE

¢ 150088 4r—< o 7 SE BT T <106No. 4 SEHT >

& H TEAR % g = B #E
[ — 7]
Rl —y 7 ¢ 1,500 m 4.4
Aok ¢ 1,500 = 1
e Y b ¢ 1,500 =X
LR — o 7 TE MR
JE S B FEIA 7 T 61,500 ; ¥+ (N=5), H2<9. 00 m
¢ 1,500 ; kit + (5<N=30),H2<9.00 m
¢ 1,500 ; WE + (N=30), H2<9. 00 m | 2.290
¢ 1,500 ; WE 1 (30<N=50), H2<9. 00 m
¢ 1,500 ; WE 1 (50<N), H2<9. 00 m
¢ 1,500 ; L 1 (FEA200mmLL F,N=30),H2<9.00| m
¢ 1,500 ; B+ (E200mmLL T, 30<N=50),H2<9.00] m
¢ 1,500 ; FE 1 (B£200mmPL F, 50<N), H2<9.00| m
¢ 1,500 ; HLATEY £<200mm = HL AL =300mm, H2<9.00f m 2. 069
01,500 ; BAIRY I<KEAFESAHE/3,H2<9.00] m
A5 | m | 4.359
JE AR HIFEIA 2 T ¢ 1,500 ; Ktk (N=5),9. 0=H2 m
¢ 1,500 ; K5t + (5<N=30),9.0=H2 m
¢ 1,500 ; WHE 1 (N=30),9.0=H2 m
¢ 1,500 ; WE 1+ (30<N=50),9. 0=H2 m
¢ 1,500 ; WE 1+ (50<N), 9. 0=H2 m
¢ 1,500 ; HET+ (BE£E200mmPL F,N=30),9.0=H2[ m
¢ 1,500 ; MY+ (FEEE200mmPA T, 30<KN=50), 9. 0=H2 m
¢ 1,500 ; HET+ (BE££200mmPL F, 50<N), 9. 0=H2[ m
¢ 1,500 ; FAIRY £<200mm = H AL =300mm, 9. 0 =H2 m
¢ 1,500 ; BEAIRY HKEAR=H#E/3,9.0sH2]| m




H =& i "
¢ 150085 &r — < o 7 RS7HT T < 106No. 4 STHT >
fiH TEAR T =1 = By e
= JREEL ¢ 1,500 BHEER 4. T/ (& 7T & FIT 1
F—v 7Bl BT ¢ 1,500 m
TV ITRET ¢ 1,500 £ A 1
= YR L $ 1,500 < LB > WE R =1.50—0. 059=1. 441m (GL-1. 50m T HI)
7 X1.50+1. 441 X4=10. 476 m 10.5
44Tkg/m
AI T T 0.447 X 1. 441=0. 644 t | 0.644
=27 U —1]
BEH DL 7 ) — MR ¢ 1,500 m’
U= 27U — 1]
BEH T 7 U — MMTRE ¢ 1,500 1.50°2X 7 /4X0. 150=0. 265 m’ 0.27
JEESR A t =20cm 1.50 2X 7 /4=1. 767 m’ [ 177
U A AR fii ]
B bR A S T ¢ 1,500 [ 1.0
HEGEGRE - PERE T ¢ 1,500 n=(T1+T2+T3+T4+715)/8
(1.40+7.234+1.26+0.0540.00) /8=1. 243 [i1] 1.0
Bt % T 61,500 [i]
ek — > 748k
Wexr—~ 7 ¢ 1,500 [ 1
[SryikEET]
9 KPEAK T £ Pt
[ Ve K i i L3 T ]
2T A SLPR T ¢ 1,500 & FIT
HI=T7.0
JEAKALER T, ¢ 1,500 m3




B ft B &

¢ 150088 4r—< o 7 SEBT T <106No. 4 ST >

i H

IR RS

B

]
il

[+T]

JeAT A

JEASRHI

1.50"2X 7t /4X4.359=7.703

7.7

av)) PR L

o ck=18N/mm”

SEYIR~GL-1. 50mE T4. 109-1. 50=2. 609
1.5072X 7t /4X2.609=4.610

PR GREE= 2V —1)
1.50°2X 7 /4X0.080=A0. 141

PEpR - (ER)
1.10°2X 7 /4X0. 130=A0.124

Pefg (BR{R) 2.609—0.080—0. 13=2. 399
1.05°2X 7 /4X2.399= A2.077

PEbR - (L)
0.318°2X 7 /4X0.225= A0.018

PEbR - (E#2)
0.500°2X 7 /4X0.225= A0.044

PERR (BR3)

PebR/NEt
0. 141+0. 124+2. 077+0. 018+0. 044+0. 000=2. 404

el
4.610—2.404=2. 206

2.2

FEAL R

RC-40

1.50°2X 7t /4X1.500=2. 651

PEpR (%)
(1.5072—0.8272) X 7 /4X0. 35= A0. 434

e (BRIR) ¢ 1.500—0.899=0. 601
1.05°2X 7 /4X0.601= A0. 520

PERR (RIEE) -
(1.0572+0.8272) X 7 /4/2X0.60= A0. 418

PEBR (B3 + IR
0.88°2X 7 /4X0.299= A0. 182

PEBR/INEE
0. 434+0. 520+0. 418+0. 182=1. 554

Al
2.651—1.554=1.097

1.1

[AFLRxE ]

SRE A+ h=0. 299 , GL-0. 299
BB h=0.6 , GL-0.899

B {A+EBE h=3 , GL-3.899
JEEA%h=0. 13 , GL-4.029

k17 J— k:h=0.08 , GL-4.109

7 AL

7.7




<

¢ 150088 — 2> 7 ASTHI T <106No. 4 SZHL
2R R g =® B #E
REIHE T
(GES |
J\ATEEIW L=(D+0. 2) tan(22.5° ) X8
AEE I T As, t=10cm 0.704 X 8=5. 632 m 5.6
J\FTGIERT A=(2XJ 2+2) XL2 :
RS As, t=10cm (2X{242) X0.704"2=2. 393 m? 2.4
LGy As 2.393X0.10=0. 239 m® 0.2
hyd-{5 e 0.023X0.10X5.6=0. 013 m® 0.01
0.013X1.4=0.018 t 0. 02
[EZERRIE 1R 1]
t=150 SEHTA f
TlErgET RC-40 1.50 " 2X n /4=1.767 m? 1.8
t=150 SRS ,
AT RM-30 2.393 m 2.4
SELERRAEZEER - 0. 10—0. 03=0. 07
B R RM-30 2.393%0.07=0. 168
STHLES : 0. 15—0.07=0. 08
1. 767X 0. 08=0. 141
ZE(r%L:1.2,C:0.9 '
(0. 168+0. 141) X 1. 20/0. 90=0. 412 m’ | 0412
AET B AR AS m’
t=50
#zET AR EAs | 2.393 m? 2.4




#wE R E

¢ 150088 4r—< o 7 SEHT T <106No. 4 SEHT >

R - MR - RS

g = Bi| #E
[ mE ] P28 T
MEE TG E L ¢ 1500 ¢ 1,500 (&5 1
MIEE LR L $ 1500 ® 1, 500 T 1
M8 LAk BAPH L. ¢ 1500 ¢ 1,500 [] 4
FIEE TR ¢ 1500 kg 730
= THCBH B T
BEARER B - GRE 1A
Y0 e TR 1E]
a7 U — MR 1]

HEdtE T2 119




15¥Uh—ILT



(1IR)

LA AL % NO. 1 (i By LA N LR No.2 G Bh)
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